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ol & o oo & = ) x
A s M MMIE = o & s oA Y
401
NE=LE =] 205, 158 27,030 178,128
CHH
203,691 27,030 176,661/01 Al4&dd]
oA 4,500,000 x2Km = 9,000
(=) 7,200
(%) 270
(Al 1,530
o AZIHFE YHAIY
- A2t 757,3002x200ha = 151,460
(=) 61,827
(%) 26,796
(Al 62,837
- LIS =Ab 306,3302x100ha = 30,633
(=) 7,358
(%) 4,059
(Al 19,216
- B2ty 109,5402x115ha = 12,598
(2) 4,740
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X (3000) B RINLHl  2+:(3300)2EXASZIHLH| & :(3310) AR XHRIIH et Mg (3311) s KIS HIAIEE: (210) 2 & AL (2] [o2: ]
= = S H m
of Ao | - A = I =
B S HAE = o & % = oA .
(%) 2,101
(Al 5,757
1,467 0 1,467/03 Al &S HHI
o RZIALY Al R0HH 203,691,000€x0.72/100 = 1,467
402
0IZ2HRH=0] 1,051,288 880,600 170,688
bS]
1,051,288 880,600 170,688(02 01 2FCH3H A 2iHI
oS2AY 1,163,8002x700ha = 814,660
(=) 452,966
() 108,727
(Al 252,967
o XA 1,820,2102x130ha = 236,628
(=) 78,774
() 47,218
(Al) 110,636
405
KA SH| 10,000 228,000 A218,000
10,000 228,000 A218,000|01 KHAtLSEH SH|

_27_




:(3000)ZMHLH 2 (3300)2E Xt bl 8:(3310) AR XHRIONE Mg (3311) =X HIAIZ : (210) 2 F ALY SR Raka)
ot = |4 mi
o o oo & = ) x
(B MIE ALK = g q s A
MNEHBE EUE &I 1,000,0002 x 10CH 10,000
(=) 2,400
(<) 1,680
(Al) 5,920
220
XHH A 560,877 436,476 124,401
206
JCEE] 78,135 66,660 11,475 oAl =312 42 L R
22 (HWEUHRL5S) 35,0002 3002 10,500
ZT3E 13,0008 x200 2,600
M 7,000 X300 % 2,100
N==(2M) 5,0002! x200% 1,000
AlSsSAL L LR LS0IFD] #AE 227
5,000 x1,000 5,000
NSEXS QX2 BAE HYs 2
- JIHELS 35 20,0002 x4Z X504 400
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ZH:(3000) Z MIOHEH]  2t:(3300)2EXNKAEZIHeH| & (3310) At XHRI DR &t MIst: (3311) =X a8 d NIAIS: (220) XEAIAFS [ERH] [ HH]
2 = ¥ oEd | oy 5
ol & o oo & = ) x
2.8 ME MHIE 2 o & %5 A Z

- &EH 3,500& x40 x23! = 280
- 22 4,000&x408x23 = 320

- U XF=F AHIE HEFY

- EH 7,000&x300% = 2,100

- SEHl= 6,600 x200% = 1,320

-2 WESEEI| 7Y 3,500&x1,00004 = 3,500
oME Mol 0 & SES=7 AL

- O=4l HI€2 5& 100,000&x5004 = 5,000

- Z7A 6,000& x6000H = 3,600
- s88-2 55,000&x500 = 2,750
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ZH:(3000) Z MIOHEH]  2t:(3300)2EXNKAEZIHeH| & (3310) At XHRI DR &t MIst: (3311) =X a8 d Mg : (220) REMIAFS [ERH] [ HH]
2t = P IS = HI ml
of & oH A = ol =
A s M MMIE 2 o & o =5 A Y
- AHZUAIE L2 200,000 x150H A& = 3,000
- 2ZAIR2E B0k 100,000 x300H A& = 3,000
- BB Y QTR 200,000 x200H A = 4,000
SAZAAY K20 1,3002x1 £ x115%x1702 = 05,415
oR2AI| 5 g2l LAl 45,0002 %500 = 2,250
307
0I2HO| & 1,500 0 1,500
1,500 0 1,500/01 222 22|
SO X2 Xz 50,0002x300t2] = 1,500
401
NEGEEE! 447 542 365,966 81,576
thyl
445,100 364,100 81,000(01 Al&H]
o224 MEEY 10,0002x2,0002 = 20,000
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ZH:(3000) Z MIOHEH]  2t:(3300)2EXNKAEZIHeH| & (3310) At XHRI DR &t MIst: (3311) =X a8 d Mg : (220) REMIAFS [EFREH][HRA:EH]
2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
o4& DI M2 2204 20,000,000 x14! = 20,000
oFQRE2H IR BA(SLR? 3F)
10,0002 x3, 000 = 30,000
oBlC U =XALE X 22 30,000,000 x14! = 30,000
oBHALE DQREOIMEY AAIEH Ol AFY
30,000,000 x 14! = 30,000
OBHALE SEY2IY AAE AKX HIA2 AXAY
10,000, 0002 x 174 A = 10,000
oS5l =X12] MAIEIRIE@XR B2 AR (L=150m)
45,000,0002 x 174 A = 45,000
oANSE XM SBSAIY 752,495 x40ha = 30, 100
oFEQC2H A2 SIS A
110,000 x200hax23l = 44,000
ocESE SEOIMESE AAEN Ol A
50,000,000 x 14! = 50,000
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2 (3000) B MIOHEH] 2 (3300)2EXAREEIHLH| & (3310) A& XHRI DR Mgt (3311) s XA HIAIEE: (220) KR AFS [ERF][ce &3]
. = 01|A_+°4*&§EH' u o = p] =
I opa N AIAIE 2 L AN
oBEE 26X YA X ZA
100,000, 0002 x 14! = 100,000
oL HAIHIZ=Y SEtEA 30,000,0002x14! = 30,000
SAZUAFEALT 6,000,0002x1 M4 = 6,000
2,442 1,866 576(03 Al& S CHH
o=XAA I LAY AlA 0L
339,100,000 x0.72/100 = 2,442
33,700 3,850 29,850
33,700 3,850 29,850(01 KA SE 5 S
oSG2 1 700,0002x10H = 700
CTASS L AZKRAAY JZRXE CXEItHTY
500, 0002 x1CH = 500
o= Y 400,0002x10H = 400
o2HKI|IX=2 HHWH L 0lH
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0

T
r
40

Z:(3000) Z MIOHEHl  2:(3300) =2 E X &I L] & :(3310) &2 XH2IOH Mg (3311)=XI8H NIAIES: (220) RER ALY [SRE] [ HH]

I

42 = S I == m}
off &b o o = ) =
I 2 HIE ML = o & % s A Z
15,000, 0002 x IR £ = 15,000
SJIX= I DA 1,000,000 x7 04 = 7,000
SRHIIXZ(H)IZAF 7Y 2,000,00021 x40 4 = 8,000
oS JIN= P ERE 350,00080x60H 4 = 2,100
400
VEEES 1,600 1,600 0
420
DI E 1,600 1,600 0
305
a2 1,600 1,600 O|cAt=lAY A DOl 243 40,00021x40% = 1,600
3320 [= 0 & 300,548 163,455 ]
XI 4 TH 22 1,195,842 659,700 536, 142 [Al 641,839 i 0 0]
3321 [= 0 = 390,548 & 163,455 ]
K| 4= 24 TH oH CH 24 Al 1,195,842 659,700 536, 142 [Al 641,839 i 0 0]
(<]
100
Z &0 &t 16,706 14,611 2,095
120
3 A=A 16,706 14,611 2,095
201
B2 | 14,706 14,611 95
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Z:(3000) Z MIOHEHl  2:(3300)=EX S EINLH| & :(3320) Xl =TH 2t el NI (3321) X =L THOHCH R4 ALY MIAIEH: (120) & A B H [SRE] [ HH]

2 = ¥ oEd | oy 5
ol & o oo & = ) x
X2 E NE L HME = L A,
14,706 14,611 9501 LBty

- Xl & THoHCHEH AR & Bt=EH]

5,200,000 = 5,200
©6.= &l

- X=Moll HR=& S| 2,250,000& = 2,250
o7. 84X =

- KHoHCHZ EH[& Xt

=24 300,000 x10thx13l = 3,000
== 300,000&x6CHx158 = 1,800

=9. A2 EHIR bl

- MHoHCHE 2 ==D| ==clb| 100,000&x10CH = 1,000
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0

&:(3000) 2 MIOHE I  2:(3300)=EXNABEINL Y| &:(3320) X 4= H2te] MIEH: (3321) X=X THOHCH R ALY MIAIE: (120) B &R A B [EFRE][E:d]
o = SRC I m
ol & o oo & = ) x
I 2 HIE ML = o & % s A Z
- %20 IIER Q7Y 1,30024x20 £ x56CH = 1,456
301
SIEIEP= 2,000 0 2,000
2,000 0 2,000/09 BALAH 2 AS
oXYMER &K SAMB 5,00021x4008 = 2,000
200 =2 0 = 390,548 & 163,455 |
AR O] &t 1,179,136 645,089 534,047 [Al 625,133 1 0 m 0]
210 = 0 & 300,548 & 163,455 ]
CEJNE 719,701 639,539 80, 162 [Al 165,698 i 0 m 0]
401
PRI 719,701 639,539 80, 162
CH bl
717,458 628, 184 89,274/01 Al&H]
oHM14S EHE 'OHOI' AGHA 2oH=T
390,548,0002 14! = 390,548
() 390,548
oS5 AGHAE(Z2A) FHIZA
- AN 100,000,0002x5.11/100 = 5,110
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ZH:(3000) P MIOHEH]  2:(3300)2EXNEZIHEH| 8F:(3320) K| =X LH2+2] MIEE:(3321) X =L THOHCHZH AL MIAIE : (210) E Z A [EFREH][HRA:EH]
o = ¥ ou < m
ol & o oo & = ) x
I 2 HIE ML = o & % s A Z
- A&l 94,890,0002Ix14] = 94,890
(2F) 50,000
(Al) 44,890
oE5l ABIA(2EA) HHIZAF
— &AL 100,000,0002x5.11/100 = 5,110
- Al&H] 94,890,000 x14l = 94,890
() 50,000
(Al) 44,890
oX5t AGHE(0IJMA) HUIZA
— AAISHH 126,910,0002x4.08/100 = 5,178
- A&l 121,732,000 x14] = 121,732
() 63,455
(Al) 58,277
2,243 11,355 A9,112|03 Al& 2 HY|
o ABIEFHl A& 311,512,0009x0.72/100 = 2,243
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Z+:(3000) & MoK H] ((3300)=EXRE H| &t:(3320) Xl F2te| AISt: (3321) Xl == RHGH CH =4 AFSS MIAISE: (220) REXMI A [ERH] [ HH]
ni; = c
n o o u w ) =
A 25 MIE. = A s A Z
220
KR AL 459,435 5,550 453,885
206
WL 6,325 5,550 775 o 28 X 2L
- PP 3002x12,00004 = 3,600
- 28= 3,0002x20004 = 600
- gz 50,0002x308 = 1,500
- 29 9 X3 20,0002x25% = 500
- &S 5,0002x25% = 125
401
NEGEEE! 453,110 0 453,110
thl
450,000 0 450,000|01 Al&HI
ool UAR(AGHAE)MHIRA
- AAI A 100,000,00024x5.11/100 = 5,110
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Z:(3000) B RIOHEH]  +:(3300)2EX L ZIHey| &t (3320) K| 2 TH L2 2) MIBH: (3321) X1 2 2 KHoH CHEH ALY AIAIEE : (220) KERI AL [ERF][¢9: &)
2 = & A < m
Gl &F A i N AF p) e
(2 8 I HIAIE = O]l &b  OH = A
- Al&H] 94,890,000 x14l = 94,890
Sob ASHE (HAA)EH|IZ2AHL=700m)
- ALAl & A 350,000,00024%3.73/100 = 13,055
- A& 336,945,000 x 14! = 336,945
3,110 0 3,110/03 Al&d 2 HHI
ASHEEHIAIY A& R4
431,835,00024x0.72/100 = 3,110
3330 [= 0 = 874,586 & 1,591,000 ]
A e 6,758,104 5,218,889 1,539,215 LAl 4,292,518 1 0 0]
3331 (=2 0 = 24,586 2 0]
HEHH 1,747,126 2,275,453 528,327 LAl 1,722,540 *H 0 0]
100 = 0 = 24,586 0]
A0 A 770,412 746,271 24,141 LAl 745,826 0 0]
110 [= 0 = 24,586 2 0]
ol 21| 294,145 268,278 25,867 LAl 269,559 0 0]
101
o1 24| 294,145 268,278 25,867
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Z:(3000)ZRINHl  2:(3300)2EXR 2 EHLH| 8 :(3330) A& 22 HIt: (3331) 8 S HIAIEE: (110) Q1 21| CaENEGR-]
1t = Oﬂﬁoﬁuaagw i} N = ) ~
I opa N AIAIE = L AN
290,819 265,052 25,767 |04 L2012
o242
- 23 32,020x14%x300 = 134,484
(%) 24,586
(Al) 109,898
= 134,484,00094x4/12 = 44,828
- 2xag 32,0209x14%x128 = 5,380
b= 32,0209Ix142x162 = 7,173
= 32,020 x 142522 = 23,311
- A4y 4,380 x14Lx22A1 2tx 128 = 16,189
- HUZ A 50,0009 x 142 x128 = 8,400
CHREELAZA
- 23 42 12091x2E X300 = 25,272
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ZH:(3000) 2 MIOHEHl  2r:(3300)=2EXS S EINLH| &:(3330)2A 422 MIgH:(3331)HE8H MIAIEE: (110) @124 ] [SRE] [ HH]

1t = 04|A_+%§L55t” Il N = ) ~
I opa N AIAIE = L AN
= 25,272,00021x4/12 = 8,424
- 2xeg 42, 12020x2%x 128 = 1,011
- oARAY 42, 12024x22x16Y = 1,348
- =544 42 1202x2% x50 = 4,381
- Ao 2esd 5. 7602 x2Hx22A1 2x 128 = 3,042
- HUZAlY| 50,0002/ x2%x128 = 1,200
oll=H(4+29 ¢ M)
- mo= 110,000 x16& 25| = 3,520
- gat= 110,00024x16% = 1,760
- 29 10,0002/x16% = 160
- &3 15,0002/x16% = 240
- orm &t 38,5008Ix16% = 616

_40_




:(3000) B HINLH 2 :(3300)2EX bl 8 :(3330) 21 & 22 B (3331) A B E o121t [=23] (o9 &2
= |4 mi
AF OH ol - Ab = J|
I 2 8L HIE. HAIE = g q s A
- otN e 5,0002/x16% 80
3,326 3,226 100{05 LAIAIH QIR
CARE DEBZA
27, 7102 x2H x32 x20H A 3,326
120
AN A 476,267 477,993 1,726
201
Uyt 438,440 438,265 175
438,440 438,265 175/01 LBt
o1, Yt =Y
- BA2Y Lot 2,060,000 2,060
- UMY LRFF U2 7,400,000 7,400
- HIIZ42B (228 FLY HAA L)
OfAZE 2,000,000 x 14! 2,000
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& (3000) B MIOHEH]  2:(3300)=2E XA E=IHed| &:(3330)H & 22 Mgt (3331) ey HIAIE: (120) 3 &= Z | [ERF][ce &3]
. = I R u o = p] ES
I opa N AIAIE 2 L AN
B 2,000,000&x14a! = 2,000
©3.2222 < MA
- 2h29 2R 480,0008 = 480
- Jl2s Mg 34,000,000&x12& = 408,000
o6.Z 2|
- 2AM2I =] 4,620,000& = 4,620
- BE A ZA 5,0002x202x30Y = 3,000
- LE8Y Ol2tEs =4 5,0003x6Ex8Lx128 = 2,880
o7.2%2
- 22327 Ut 350,000&x108 = 3,500
- CANRSEHA HUYHPEH,S)
300,000& x53 = 1,500
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ZH:(3000) 2 MIOHEHl  2r:(3300)=2EXS S EINLH| &:(3330)2A 422 MIgH:(3331)HE8H NIAIE: (120) B & = I [SRE] [ HH]

2t = P IS = HI ml
of & oH A = ol =
A s M MMIE 2 o & o =5 A Y
o9 Al &Y S XYl
- =AD& 200,000 x2CHx13] = 400
- ZFEFD| A 300,00024x1CH = 300
- 2HE SX22l| 300,000 x1CH = 300
202
01| 24,240 30, 180 A5, 940
24,240 30, 180 A5,940(01 2LJ01HI
oZQAR XY 10,0002 x 182 x62Lx123] = 12,960
CRQMAZE Y TRET MDA BYUEX SAZA =X 04|
40,0002 x3% x42x83] = 3,840
oL A U BIEZAl S0
10,0002 x4 x8L x 123 = 3,840
oDIEY =QAD =AY
40,0002 x3H x5 x63] = 3,600
203
AR 3,600 3,600 0

_43_




ZH:(3000) 2 MIOHEHl  2r:(3300)=2EXS S EINLH| &:(3330)2A 422 MIgH:(3331)HE8H NIAIE: (120) B & = I [SRE] [ HH]

2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE = o & s oA Y
3,600 3,600 0104 JIE+H R =&
o3 . 2A2Y ARFAH(FA27Y)
300,000 x 12 = 3,600
301
Bt A 2 9,987 5,948 4,039
9,987 5,948 4,039/08 2R QABAZ
CRAUDDQA(WEIGCHE LU AIREX)
== 19,0002x5Hx 128 = 1,140
- A2 684,0002%x2/12 = 114
- SA| 3,500 x25xhHx 128 = 5,250
- WEH| 1,6002x252Ux5%x128 = 2,400
- Il=Y
ags 110,0002x5% = 550




X (3000) 2 HIONEHl  2:(3300)2EXA S IR S| 8 (3330) 2 & 22 Mgt (3331) HE 8 H HIKIE: (120) 3 A= A | CEENEERE
2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
=Dy} 5,0002x5% = 5
=% 38,5002x5% = 193
S 3,000&x5% = 15
Toe st 15,0002 x5 x4 2!
200
AFE Ol AF 976,714 1,529,182 AB52,468
210
X ALY 1,800 1,700 100
403
XIS S 1,800 1,700 100
0| &
1,800 1,700 100
1,800,000 x 14!
220
XHRI AL 974,914 1,507,482 AB552,568
206
T2 H| 46,084 47,922 A1,838
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& (3000) ZHONZHl  2:(3300)=ENJAE =LYl &:(3330)H& 22| I (3331)HEHE NI KIEE: (220) KERIAFS [ERF][ce &3]
o = oo ow | &8 = - Ak = pJ e
I opa N AIAIE = L AN
- 2|03t BHA 28,000&x40H = 112
- ¢ 5,000&x200H = 100
- 2O 6.0002x 100 = 60
- 5,000& %3090 = 150
oLz AN4dE B
- 22 20,000&x100m = 2,000
- BAA 10,0002 x55x200 = 1,000
- AlBHIE 4,000&x100E = 400
- OtAZ 36,600&x120 = 4,392
- Ay NgEY 10,000&x50m" = 500
- =32 15,0002/ x300% = 4,500
o gtAL HIY & 800&x2,00000 = 1,600
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X (3000) 2 HIONEHl  2:(3300)2EXA S IR S| 8 (3330) 2 & 22 Mgt (3331) HE 8 H HIAIEE: (220) REHI AL CEENEERE
2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
oHAEE dszs 2o 6,3502x200%E = 1,270
oAULS IS 2oS A
- S 60,0002 x60S = 3,600
- o 25,0002 x40000 = 10,000
- OFH D 25,0002 x40008 = 10,000
- ®HEIIQUE 300,000 x 1004 = 3,000
- Mo 70,0002x20% = 1,400
~ HHE M0 D] 50,0002 x40E = 2,000
401
L] 925,830 1,479,560 A553,730
CHl
923,000 1,475,000 AB52,000(01 Al&t]
o2 =-FXI2F ZTX M =2I((L=3,000m,B=4m)
50,000,000 x 14! = 50,000
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ZH:(3000) B MIDHEH]  2:(3300)2EXREZIHEH| 8F:(3330) 24 & 22l ANISt: (3331)H &N NIAIS: (220) XEAIAFS [ERH] [ HH]
2 = ¥ oEd | oy 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y

o518 JIUOIE
30,000,000& x 14 = 30,000

oZ2EE HAMYP-HHOIIIEZN S2EEH M 2] (L=400m,B=6m)
23,000,000& x14] = 23,000

150,000, OO%XVA = 150,000
olfs-52N2 HZ2E X 3AH28S)

30,000,000& x 14! = 30,000
oAMULER S 2eH(S22LH)

100,000, 000& x 14] = 100,000
otz |RAE=HI(2,6505) 20,000,000& x14&) = 20,000
oL 2= HUNRES =+ 410,000,000&x14l = 410,000
I sHEZ=Z(2l=203s) & E I3 AHL=130m,B=6m)

50,000,000& x 14 = 50,000




ZH:(3000) B MIDHEH]  2:(3300)2EXREZIHEH| 8F:(3330) 24 & 22l Mg (3331) AL A Mg : (220) REMIAFS [ERH] [ HH]
2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
oUSIE AIXY TR2EINK A XA X2 AHL=100m)
30,000,000 x1A! = 30,000
2,830 4,560 A1,73003 A& Y]
oE2EA U QA RA2IAL2UH
393,000,0002x0.72/100 = 2,830
405
XHAbE S| 3,000 0 3,000
3,000 0 3,000/01 KHAtLSZx S|
oT2HH M BRLEDIE 2ZHOIH P
3,000,000 x 14! = 3,000
3332 (2 0 = 850,000 < 1,591,000 ]
RSB E 2 A 5,010,978 2,943,436 2,067,542 [Al 2,569,978 i 0 0]
200 B 0 <= 850,000 < 1,591,000 ]
AFS] Ol AF 5,010,978 2,943,436 2,067,542 [Al 2,569,978 X 0 0]
210 B 0 < 850,000 <F 1,591,000 ]
2 EALY 3,575,931 2,943,436 632,495 [Al 1,134,931 X 0 0]
401
NERIEE] 3,575,931 2,943,436 632,495
thl
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XF:(3000)ZRONLHl  2+:(3300)2EX S EINLH| 8 (3330)HA 242 Mg (3332) IS T 2AFY MIAIE: (210) 2 ZAFY [22H][o9: &)
2 = & A < m
of Ao il - A = I =
I a HIE A = of A W= oA -
3,564,000 2,933,595 630,405 |01 Al&H]
o2EE TAHETZ2(23-267)IH4 (L=50m,B=8m)
200,000, 000 x 14! = 200,000
(%) 100,000
(Al 100,000
oBHAE T AIHE & 2 (A3-159) H A (L=60m,B=8m)
- AAIA A 200,000,00024x4.08/100 = 8,160
- A& 191,840,000 x14l = 191,840
() 100,000
(Al 91,840
oZEASE TAIHEZR(A3-370) A (L=145m,B=8m)
- INE= 1] 100,000,000&x5.11/100 = 5,110
- A& 94,890,000 x14l = 94,890
(%) 50,000
(Al 44,890
o=ECE ZAHECR2(IEESX-25HA)INA (L=100m,B=6m)
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XF:(3000)ZRONLHl  2+:(3300)2EX S EINLH| 8 (3330)HA 242 Mg (3332) IS T 2AFY MIAIE: (210) 2 ZAFY [22H][o9: &)
2 = o9 £ oy 5
ol & o oo & = ) x
I 2 HIE ML = o & % s A Z
- AAIZ A 100,000,000&x5.11/100 = 5,110
- Al&H] 94,890,000 x 14!l = 94,890
(%) 50,000
(Al 44,890
oJ|HH ElHel TAIHEZ2MA
- ALAIA A 400,000,0009x3.56/100 = 14,240
- A&l 385,760,000 x14l = 385,760
(%) 200,000
(Al 185,760
oLt HA2] EAMW(21£201) & Xl (L=20m, B=8m)
- AAIZ A 300,000,000€4x3.73/100 = 11,190
- Al&H] 288,810,000 x14l = 288,810
(%) 150,000
(Al 138,810
oSols 12l o+ JH A (L=30m,B=8m)
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X (3000) B RINLHl  2+:(3300)2EXA S EIHLH| & :(3330) 2L 242 Mg (3332) IS T 2AFY MIAIE: (210) 2 ZAFY [22H][o9: &)
2 = o9 £ oy 5
ol & o oo & = ) x
I 2 HIE ML = o & % s A Z
- AAIE A 300,000,00084x3.73/100 = 11,190
- Al&H] 288,810,000 x14l = 288,810
() 150,000
(Al 138,810
oXH5tH TWalel X2 &I E(L=60m,B=8m)
- ALAIA A 100,000,000x5.11/100 = 5,110
- A&l 94,890,000 x 14! = 94,890
(%) 50,000
(Al 44,890
CEFS E2-EH(HT 1045 M) T 25, I F(L=500m,B=8m)
- AAIA A 409,000,0009/x3.39/100 = 13,866
- Al&H] 395,134,000 x14l = 395,134
() 355,000
(Al 40,134
oXHGIH DY-2F2HHTI101SH )T 2 &, I X (L=700m,B=8m)
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ZH:(3000) 2 MIOHEHl  2r:(3300)=2EXS S EINLH| &:(3330)2A 422 Mg (33B2)XIABAHZZ A MIAME:(210) BEALY [S2E]I

o
40

e ® ]

2 = o9 £ oy 9
o & o e & s ] =
I 2 HIE ML = o & % s A Z
- ALAIA A 550,538,000&4%2.99/100 = 16,462
- Al&H] 550,538,000 x14l = 550,538
() 492,000
(Al 58,538
oS5 2UM(QE,21Z2075 K )T 28 I A2 AH(L=600m, B=8m)
492,000,0002 = 492,000
() 427,000
(Al 65,000
o= MAD(AMT7SHE:AZ~22) N2 A
- AAIA A 383,015,00084x3.39/100 = 12,985
Al & 383,015,000 x14l = 383,015
() 317,000
(Al 66,015
11,931 9,841 2,090/03 Al&=2HYI
o XS OIT 2 ALY Al L2
3,635,979,0002x0.27/100 = 9,818
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SJIH SU-EHZHBEE

- AAIE I 200,000,0009/x3.39/100 = 6,780
- A&l 193,220,000&x 14} = 193,220
oHGt AU-otH2H(2IE2055 46) & & E & AHL=500m,B=8n)
200,000, 0002 x 14} = 200,000
oAl E:R(AER:2IF2035 M) AR HEIA
- AN 200,000,0008/x4.08/100 = 8,160
- AlgH 191,840,0002x14! = 191,840

ZH:(3000) B MIDHEH]  2:(3300)2EXREZIHEH| 8F:(3330) 24 & 22l MISt: (3332) KNSt 2 ALY MIAIEE: (210) E X ALY [ERH] [ HH]
2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
OXAUHOT 2 ALY AlARHY]
293,433,000 2x0.72/100 2,113
220
XHRI AL 1,435,047 0 1,435,047
401
AlEH s 1,435,047 0 1,435,047
Chl
1,430,000 0 1,430,000/01 Al&H
C1035 M) T 28 T A2 AF(L=1,000m,B=8m)
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2 (3000) B MIOHEH]  2:(3300)2EXREEIHEH| & :(3330)H & 22 MIEH: (3332) KNIt 2 ALY HIAIEE: (220) KM AFS [ERFE][S2:dH]
o = S E R o
ol & o oo & = ) x
2B MBI S = WM | = oA
oZ8 ZT2| AL2D JMEZAH(L=10m,8=8n)
A 100,000,0002/x5. 11/100 = 5,110
- Al 94,890,0002x 1Al = 94,890
SEol DHI-E&2HRE7E M) % 2 FHI B AHL=1,200m, 8-3n)
250,000, 00021 x14! - 250,000
ocEf SEESA-2HEI C 2T AN S| (L=700m,B=6n)
30,000, 0002 x 14! - 30,000
o5 HE2| MO JHE 2 AH(L=300m, B=12n)
200,000, 0002 x14! - 200,000
CAR OIS 12 SOIET 2 (2152105 01X M) & T & (L=500m, B=6n)
A& 200,000,00020x4.08/100 = 8,160
- Al 191,840,0002Ix 14 = 191,840
oE=E HDp U (2/T2035 )5 M2 I (L=1,500m,B=4n)
50,000, 0002 x 14! - 50,000
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AN ZAY  AAIE: (220) KEAI AL [SRE] [ HH]

ZH:(3000) B MIDHEH]  2:(3300)2EXREZIHEH| 8F:(3330) 24 & 22l AISt: (3332) X & &l o
2 = ¥ oEd | oy 5
ol & o oo & = ) x
X2 E NE L HME = L A,
5,047 0 5,047|03 A& 2ThY
oX BT 2 A AlAEHY
1,401,790,0002 x0.36/100 = 5,047

A E g 14,587,734 12,145,353 2,442,381
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